>

A CDS Mean Reactivity

M

A CDS Mean Reactivity

Za)

A 3'UTR Mean Reactivity

o
N

o
Q

|
o
N

o
N

o
Q

|
o
N

5'UTR vs. CDS, All
r=0.12 I .
I n = 14,330
|
-0.2 0.0 0.2
A 5'UTR Mean Reactivity
3'UTR vs. CDS, All
r=-000 o
I n=14,213
|
-0.2 0.0 0.2

A 3'UTR Mean Reactivity

5'UTR vs. 3'UTR, All
r =-0.02 le

A.

n=13,418

-0.2 -0.1 00 01 02
A 5'UTR Mean Reactivity

o

A Abundance (log, TPM)

@

A Abundance (log, TPM)

—

A Abundance (log, TPM)

5'UTR vs. CDS, Concordant
r=-0.39

° o
n=7,492 | % e o

-02 -01 00 01 02

A 5'UTR Mean Reactivity
3'UTR vs. CDS, Concordant
r=-0.41

-0.1 0.0 0.1

A 3'UTR Mean Reactivity
5'UTR vs. 3'UTR, Concordant
n = 6,434 :

r=-0.20

s ‘od“o‘ * )
|

0.2

-0.1 0.0 0.1
A 5'UTR Mean Reactivity

@)

A Abundance (log, TPM)

T

A Abundance (log, TPM)

<

A Abundance (log, TPM)

5'UTR vs. CDS, Discordant

n= 6,837 :

r=0.21

3'UTR vs. CDS, Discordant

n=7,569 '

-0.1 0.0 0.1
A 5'UTR Mean Reactivity

r=0.19

0.2

-0.1 0.0 0.1
A 3'UTR Mean Reactivity

0.2

5'UTR vs. 3'UTR, Discordant

r=-0.12

0.0 0.1

-0.1
A 5'UTR Mean Reactivity

0.2

O

A Abundance (log, TPM)

A Abundance (log, TPM)

Z

A Abundance (log, TPM)

5'UTR vs. CDS, Concordant

: r=-0.56
*

|

|

. ® “‘} }t:‘.
n=7492 ;7 [TV
l
-02 -01 00 01 02

A CDS Mean Reactivity
3'UTR vs. CDS, Concordant
r =-0.60

|

o« |
Adee o |
|

.
S o ®

n = 6,640 |

-0.1 0.0 0.1
A CDS Mean Reactivity

5'UTR vs. 3'UTR, Concordant

-0.2

r=-0.16

. sl
v,
& ooe !T*

0.2

-0.1 0.0 0.1
A 3'UTR Mean Reactivity

0.2

m

A Abundance (log, TPM)

o

A Abundance (log, TPM)

A Abundance (log, TPM)

5'UTR vs. CDS, Discordant
r=-0.52

n=6,837

-0.2

-0.1 0.0 0.1 0.2
A CDS Mean Reactivity
3'UTR vs. CDS, Discordant

r=-0.51

® ®
n = 7,569 L TRl
|
-0.2 -0.1 0.0 0.1 0.2
A CDS Mean Reactivity
5'UTR vs. 3'UTR, Discordant
' r = -0.04
@ I ®
’. o |
@ ] l‘
®
o o
2
2 .
PR o L
[ _ ] ’ ® ’
[ ] ®
n=6987 .
|
-0.2 -0.1 0.0 0.1 0.2

A 3'UTR Mean Reactivity



